Dream On Me Inc.

: D
1532 S Washlngton Ave . ()ffﬁ/[né & ASSEMBLY INSTRUCTIONS
Piscataway Township ~ + » =
NJ 08854 ITEM NO: 667

TEL: 732-752-7220 Patent Pending
Customer Care: +1 (732) 366-1788

- Adult assembly requested
- Small parts maybe present, choking hazard prior to assembly
- Enclosed please find step by step instruction to help you quickly
assembly your product.
- Before you begin we recommend that you follow the below steps.
1. Please read the instructions thoroughly.
2. Identify all parts and hardware.
3. You will need the following tools:
- Philips head screw driver
- Flat head screw driver

CAUTION: DO NOT USE POWER DRILLS OR DRIVERS

- To protect the parts during assembly please place them on a soft
surface.

- To clean surface use only water on a damp cloth.

- Do not use window cleaners or cleaning abrasives as it will scratch
the surface and could damage the protective coating.

/4

A\ ALY/

Scan the QR code to register your product
https://dreamonme.com/customercare/registration/

A" A

2

i

VAR AV AYAN 7/ A

e
ot
|’- r

WA £ VA, F

VR Av.av-= & V. \R Y
\‘-\\T . BYANR AV YL A ‘._
RN A/. D Y.

RNAT AR AV.RAR. WA Y 1"-._

O

MR VAR AV. YA S WY
MR AV.RAS AV, BN

MANMARAR AYAWR A TN RN

VRN AV.IMTAS A Ya 'R A




Dream ™

ATTENTION

Please note after the crib is
completely assembled you
must reset the system.

DO NOT reset the system
prior to assembly.

Instructions on how to reset
can be found on page 14.



4\ WARNING!

- Infants can suffocate on soft bedding. Never add pillows, comforter

or padding.

- Failure to follow these warnings and the assembly instructions could

result in serious injury and/or death.

- Read all instructions before assembling the crib. Keep instructions for

future use.

- Any mattress use in this crib must be at least 51.5 inches by 27.25

inches with thickness not exceeding 6 inches.

- Check this product for damaged hardware, loose joints, missing parts

or sharp edges before and after assembly and frequently before usage.

- Do not use crib if any parts are missing, damaged or broken.

- Contact Dream On Me (170 Circle Drive North, Piscataway, NJ 08854
Tel: 732.748.1300) for replacement parts and instructions if needed.

- Do not substitute parts.

- To reduce the risk of sids, pediatricians recommend healthy infants

to be placed on their backs to sleep, unless otherwise advised by your

physician.

- Strings can cause strangulation. Do not place items with a string

around a child’s neck, such as hood strings or pacifier cords. Do not

suspend strings over a crib or attach strings to toys.

- To help prevent strangulation tighten all fasteners. A child can

trap parts of the body or clothing on loose fasteners.

- Do not place crib near window where cords from blinds or drapes may

strangle a child.

- When child is able to pull to a standing position, set mattress to the

lowest position and remove bumper pads, large toys and other objects

that could serve as steps for climbing out.

- Do not leave child in crib when base board is in the highest position.

- Be sure base board is stabilized whenever child is in the crib.

- When child is able to climb out or reach the height of 35 inches the

crib should no longer be used.

- Do not use a water mattress with this crib.

- Replace teething rails if damaged, cracked or loosened.

- If refinishing use non-toxic finish specified for children products.

- Never use plastic shipping bags or other plastic film as mattress

covers because they can cause suffocation.

- Infant can suffocate in gaps between crib sides and a mattress that

Is too small.



PARTS LIST

@ Left head board ( X1) Right head board ( X1)

@ Front rail (X1) @ Back rail ( X1)

® Back rail upper stabilizer bar ( X1) ® Mattress support ( X1)




Bolt  M6+100mm  ( X10) Barrel nut ( X10)

©)

(C) Bolt M6*20mm (X4) dd Washer M8 (X4)

@

e. Washer M8 (X4) f. Washer M8 (X4)



=

G: Wrench H: Bolt M6x15 x 16

I. Metal connecting piece @ Electronic control box ( X1)

0 S

@ Dowel @8x40mm (X2) @ “L” allen warench ( X1)

M. Bolt M6x45 x2




Step 1

ATTENTION: The safty clip

towards to left headboard.

)8, 88

Insert the bolt into
Barrel nut




step 3
Assembly step is the same as the first and the second steps.




H: Bolt M6x15 x 16

Mattress

Attach H:Bolt M6x15 x 16 to I: which then attaches to the
Support using the "L" allen wrench as pictured above.



Hook

—
NS\

7749\
ARETAVAY,
W.AVAR ' //‘

WA '
| R\ WA VAW 4\ // /'

N\ GV O \
| — AV R
= SN0\ —
\ mwwwﬂ"l_.- I .-_l — ._- — #l_#ltﬂ

Vi Y
- —

Place base board on hooks as shown above

Attach it using the parts shown.



Step 5

7778 TN\
V7 AV AN
777N X\ NN
\E DY
. AVAND

\\

\/Y'\
Eff

A

_H/_.m

.fdfr}
A
.f

\\
N\

m,;{x/

10



Step 6

v YN\ W X I

NALY.YAS AAVAYA

L VYYA VL %

l -
“\/ R
ATTENTION: Fit the wires together,
when the slot of both side Inosculated.

Finish fixing, click safty clip.

11



12

/ —T .
7 A BN

A\ 2 LY AN

AENS X\ NN
R e e
/XA VIR WS\

Finish fixing, click safty clip,

and link power supply.

Step 7




F: '-,1 L~ |
\
”';._H
Hi |
- Button function instruction: :
. © '
1. (1) Move up :
2.2 Movedown @ :

STEP A: Press up button until the mattress support reaches it's highest point,

Be sure the baseboard is stabilized, Place and Removing the child from
the crib.

STEP B: Whenever a child is placed in the crib, Press the down button until the
mattress support is in the lowest position.

o ALWAYS VERIFY THAT THE BASEBOARD IS STABILIZED.

o CAUTION: WHEN A CHILD'S HEIGHT REACHES 90 CENTIMETERS(35
INCHES), THE CHILD SHOULD BE PLACED IN A YOUTH OR REGULAR BED.

o CAUTION: ANY MATTRESS USED IN THIS CRIB MUST BE AT LEAST 27-1/4
INCHES BY 51-5/8 INCHES WITH A THICKNESS NOT EXCEEDING 6 INCHES.

3



ATTENTION

Reset the system as shown below when actuator works abnormally.

Button
function T
Instruction: 3
]

1. Keep pressing and @button to move the crib downwards.

2. When the actuators stop, release the buttons, it may stop in
the middle or lowest positions.

3. Keep pressing and @buttons again, after 2 seconds, the
actuators will start moving downward again.

4. Keep pressing @ and @button until actuator reaches the
lowest positions and the LED light on the push button flashes

three times.

14



1532, S. Washington Avenue
Piscataway, NJ 08854
E-mall: info@dreamonme.com

www.dreamonme.com

Follow us on
o @dreamonmeinc ’@ @dreamonmeinc

to get your nursery featured on our social media.

Enter our monthly giveaway! Chat with us!

Simply scan the QRcode to register. For any questions or concerns or feedback.

DOM

FAMILY

Diream
4 A I Pl —-i—-l—

sweetpea baby S N3 wAih 720~ A




